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M e K 1 +9=0.111111 |
f %?’z} ) K& 1-+16=0.0625
L% kT, = £ 1+25=0.04
YO 0.11111140.0625+40.04=0.213611
KEY WARD 200-=0.213611=936.2808
et O tallx LR 248 ~divide £936.28083 (93H642F8H8F)
¢ W 2 3 v : N 2. % *rice, soy bean, barl ey f DTHHo
” \ 036.2808--9=104.0312
036.2808+—16=58.51/55
036.2808=-25=237.451232 FES A0/
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EHLTEIEEDBRESAS Rice 10+-9=0.111111
% B - Soybeans 10+-16=0.0625
X A+=ZAARIZHNEGNF Barley 10 95—0.04
e BEESRSIY/NSLE
KX AT=FBRIXFANE/NF 0.111111+0.0625+0.04=0.213011
K€ Ei5
o AR — A 200~ 0.213611%936.2808 .
Each of them 936.2808to (93goku Gto 9masu 8go Ksai)
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R 936.2808+-9=104.0312
E—WMEAKRDEERNLITENSE. 0. 1111111 EL D, 036.2808+-10=58.51755
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Fr-—MEEDE. AR} (Z+H})TEBE, 0. 04THEL S, 936.2808 +256=37.451232 N
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There are 200t°. 1%5° can change 9% of rice, 1¥° can change 18°ku gto (16%) HMTEL B E A,
of beans and 17 can change 2&°ku gto (26%°) of barley.

If you buy them same volume,how much them? AEl. OBV A m L. LR
<Answer> | FIE I SN TR LR TR, ETe. FIEOR Ha@ 5
* Quantity of rice 9380 610 220 o 82 | k%% 2 THR L T 5 = LT, D RHR A~ O BT %
* Price of rice 104ry° and silver coins 1monme gbu 7rin DHHZLNTXT. B HOFE. BEER 2 57 570 'C
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- Quantity of beans 9380ku gto 2syo 8go sal

- Price of beans 58ty0 2bu gnd silver coins ]moenme 5rin
The two problems were questions asking for interest rates when
+ Quantity of corn  93goku Gto 9syo ggo gsai buying goods or borrowing items. We used addition,
» Price of barley 370 1bu gand silver coins 12moenme 7rin multiplication and division to solve them.
<Method> Through this exploratory mathematics time, we was able to
As gold 1s 1¥°.You divide the price of rice by 9%, and will get 0.111111. learn about “Wasan” mathematics in the Edo period. In addition,

You also divide 17° the price of soybeans by 16%* and will get 0.0625.

You also divide 1'° the price of barley by 25% and will get 0.04.

There are added to 2.3611.

Accordingly, you divide 200%° by 2.3611 and divide by number of square
wooden cap.

You will be able to know answer.

But, replace 0.111111 with 0.1.

we could deepen our understanding of the Edo period by
comparing it with the present day considering the meaning of
the problem of “Wasan.” We were very hard because we had
problems, but we enjoyed working on it.
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F—J—F 100+125=0.8
0.8 X0.75=0.6
& Fj 0.6 X 0.85=0.51
0.8+0.6+0.51=1.91
Key word 100-=1.91=52.356
F>T52E 3564

Interest rate ] BF OV T

R1I00Efg Y & & & #EF2FF. ZFBIXRA2EF.

=B IERIBEE TR TAD 109~ 125=0.8
EZRBELELTOFEEDET B, 0.8 %0.75=0.6
BERICxFERLEODT=FETEFI S BIZTH 0.6 X0.85=0.51
YR 0.8+0.6+0.51=1.91
% > 100—1.91=52.356
BETTHS2E355652E14 Accordingly,52"356me"me,
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When you borrow 100 silver, you will bear the| 32 &hTE 3,

interest for 25% of the first year. How much
will 1t cost to repay 1n the same yearly
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~About 1nterest rates~
1780 to 1842, Interest rate of the consumer cred it

' ? . .
payment In 3 years: was 15% of annual 1interest. After that, in 1842 a
law 1s established. It became annual interest 12%.
<Answer> In our time, an interest rate is 17.8% in consumer
Every year the principal and interest 1s 52kan fjred it i i i
g5monme Gbu 9mou 1 shi. Promise” from 4.5%. It becomes 18.0% from 4.5%

In the consumer cred 1t “Rake”. These companies
understand that the value of the interest rate 1is ‘
<Method> approximately near. :

10+-0.125=80, which shall be the first year’s I can suppose that there are not many differences I
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petition. Also, this 8 is multiplied by 7.5 to be | “When ! compare the Bdo era and the presch Age
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60. This 1s.the second year's petition. Also, IN | &[] : httpi/detail.chiebukuro.yahoo.co.ip

the following year 1t will be 51 with 60
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multiplied by 8.5. This is the third year’s aw}lttpw g ?JP%?C“""/ SP o0°
petition. These three are added to 191, which = FRINE Sé""‘p"h”ts“ta”km - O
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